
SHRIMP WEIGHT / COUNT ANALYSIS AND DATA

NOTE: ALL LINES MUST BE COMPLETED TO OBTAIN AN ACCURATE ANALYSIS

THIS SHRIMP EVALUATION IS BASED ON FROZEN SHRIMP IN 5 LB. BOXES! 

DATE_________________SHRIMP BRAND______________________________________SIZE AND TYPE____________________

INVOICE PRICE PER LB. $______________                           ACTUAL THAWED WEIGHT(NET WT.)_____________

SHRIMP COUNTING PROCEDURE: 1.) After thawing, draining for 2 minutes only, and weighing shrimp, REMOVE ALL BROKEN PIECES.   2.) Establish a whole number weight with shrimp of 3, 4, or 5 Lbs.   3.) Divide shrimp into piles equal to established whole number weight (i.e. If starting with 3 lbs. divide into piles of 3 etc.).   4.) Count all piles and any remaining shrimp to obtain the actual count.

ACTUAL COUNT_____________     AND ANY LEFTOVER SHRIMP_____________

EVALUATION SUMMARY 
IF WEIGHT DISCREPANCIES EXIST ON TESTED SHRIMP, USE THE FOLLOWING EQUATIONS TO DETERMINE ACTUAL AND EXPONENTIAL MONETARY LOSS.

NOTE: ALL SHRIMP THAT ARE SOLD BY 5 POUND NET WEIGHTS MUST WEIGH 5 LBS. AFTER THAWING BY LAW !
1)    Invoiced price per pound (_________) multiplied by 5, equals the price customer paid for the above box of shrimp on paper only. 

2)    The price on paper for the 5 Lb. box is (_________).    Divide it by the actual net weight from above analysis which was (_________),
3)    and it equals what customer actually paid for the shrimp per pound.    This actual price customer paid per pound is (_________). 

4)    Again use the actual net weight from above analysis (_________), and multiply it by invoice price per pound (_________), this equals(_________).

5)    Take that total and divide it by 5 to get the price per pound this customer should have paid for this shrimp.   Which is (_________).

6)    Take the price the customer should have paid from line 5, and subtract it from the actual price they did pay, from line 3. 

7)    This gives you the customer’s loss per pound on this shrimp.    The loss per pound is (_________).  

8)    Multiply the loss per pound by 5 and it equals the customer’s monetary loss per 5 Lb. box.   That loss per 5 Lb. box is (_________).

9)    Divide the loss per box by the customer’s nearest estimated food cost percentage of _______%, to get customer’s loss in gross

10)   sales just for the menu items using this particular product.    That monetary loss in gross sales equals (_________) per box. 

Exponential loss is realized on top of that since the beverages, salads, sides, and desserts won’t be there either.

Recap: Customer assumes they paid_________.Customer actually paid__________.What customer lost per pound_________.
